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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

‘Departmental  Test in the Manual of | N
Name of the Firemanship for Officers of Tamil Nadu Fire and ’
Test: Rescue Services - Second paper (Without 059
books)
Maximum Time: 2.30 Hour Maximum Marks: 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
CHTeM@M euems eNemiTé&men
Read the following instructions carefully before beginning to answer the
questions.
NS ErHG oL wWealléass QASTLRIGL (peiTy SE&HETL. N6 IS ens
SEUGTLONMGL] Ulg &H&HaLD

1. This computer based Test contains 100 number of questions in objective
Type.

Qss same aufls Coieureng) 100 QaTN@N suemaUNEUTaN a6 TéH&H M6
Qe T6uuIL. &l.

2. Answer all questions. Each question carries one mark
SIMHH QNATESEREGL  eflenl_ weNéoeyid peuCleum(y, eflsoimeyd  p(r,
OSIICILIET 2 ML IS

3 In case of doubt, English version is the Final.
efenesailey #hCHad AU  mdle  angafled Qaenhe&sul Henen
ellentT&H&Gen Qmidluimsvig).

4. Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.
Bhs elermdseaficds @b QubmeTen eyeim LiTeSensseulsn U & 6 & &6efleL
CoemeuliLigsh,  &WesComu  Quem  unedené seulssr EUNTTSH 60 5 & (LD
SILRIGLD.

>. Before answering the guestions in CBT, candidates should read the following
instructions displayed in the monitor:

N GMETIIILIGTII&HET  Hewnileni) ufly GCajalne ool weNssd QeTLED
et saMellullet  Aeopuiley  Camaimid  SMeysMIHMET  SHeusTDTHL
Uig &&6YLD.

a) One question will be displayed on the screen at a time.
@Gy CrysdHev @@ ellan L GG safafls HavyuNsd CoHmemiLd.

b) Time available for you to complete the examination will be displayed through
a countdown timer in the top right-hand corner of the screen. It will display



Bilge Fire — Means
Bilge Fire ereiruig

(A)
(B)

()

N

Fire at the Bottom of the Ship
sLL6T SigULGHuder gL Samigu §
Fire in the entire ship

SULD (Ppeugid gHuL &gl §

Fire without smoke due to the presence of o1l residue inside the ships
suud@sailer guiled sflefearmd yamsulidamnd ghuL dsguw §

Fire with smoke due to the presence of o1l residue inside the ships
sliLosafle e sflefamd yamsapl LbgL e arfludsmiqul &

ATC — Expansion of
ATC — arerugern aflfleursstn

(A)

(C)

Auto Traffic control Mir Traffic Control
<G 14 ym9s ser Grmed g grmas sar Gymed
Air Terminal Control (D) All Traffic Control

et QLiSlered seam Grmed 2 ig.7798 senri_Grme

APU — Expansion of
APU - aéugen eflfleurgsid

(A)

(€)

Alternative Power Unit . Auxillary Power Unit
LIHY &6 BievE gloan 568 G
Auxillary Production Unit (D) Additional Power Unit
genam o HUSH B6v(E FmE0 F65 @

The Term “Pantograph” in railway mean
@ ru9eCGaiuler “Pantograph” ereirLigen Gummer?

(A)

()

(D)

Apparatus for speed measuring graph
Geussang ieTellBib cuanTuL @WBET BenoLiy

Apparatus for collecting current from OLE
OLE-e(mia WemCarmLgens GLUmib ey

Apparatus for carrying line transaction current
@pames OaGarmi L sms GUSHGHuSHETE 2 LISTETLD

Apparatus for signal unit of track
g TS BienwssiLLl Heter FiflEenes el
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5. What is L.P.G.?
L.P.G. eranprév ereviaor?

Liquified petroleum gas (B) Liquid Petroleum gas
Brwwrgsiu s Qur Crrellu eumuy dlgeu Gur Grmedlw eumy
(C) Liquid paraffin gas (D) Liquified paraffin gas
Slreu umys9er eumuy Birowréssliue L urpsSer eumuy
6. How many types of kerosene fuels in use for turbine engines?
Lienue  er@gpdlemsafies LwetuhSsLLBD wembenar@esti erMumpLsdr  adgeaman
QUHESHET ?
@ 4 s
G 2 D)y 5
7. The Kerosene fuel used in naval Aircraft?
sLpLeL ewramsaid LweTLRESILHL waTCarambants erflblLmmeT?
(A) Avtur- 40 (B) Avtag
M Avcat (D) Avtur - 50
8. The pressure inside a flying aircraft is maintained at a value of

umbg O sTamg (ha@h elbramisaiiss uyrof&slu@D STODPSSD TS, 2

(A) 10 bar @7 1 bar

(C) 10.33 bar (D) 100 bar

9. The compressed Nitrogen gas on board of an aircraft is for
Aoramuselld Garasoaselld SEpdsliulL eBLIRET Ty  SDSSETLeuhmieT
THH&T& ?

M emergency use if the hydraulic sytem fail
@ant_medls sienwiy Guiistiamauild eusy sradsied LLaTURSS

(B) pressurising fuel tanks
erRQUTBET SoeTsamar Bi(WPSsELHD

(C) emergency breathing purposes
Salg] srgdle seurfsas

(D) None of the above
Cuopsa ergebldeame
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10. The Composition of Alclad 1s
Alclad-&r seeneu

(A) Aluminium with about two percent Copper and two to ten percent Magnesium
Si@Liteiwbd, srtiur 2% wHmb waatHun 2% — 10%
(B) Aluminium with about four percent copper and one percent each of
Magnesium, Manganese and silicon
<igBlafwb, srour 4%, waafflwib, wriisald wHmb Adssrda dumea 1%
W Duralumin with a surface finish of pure aluminium
g sigfleflugder Cupuriy yFsblararml gurm sig)sler

(D) Aluminium and Copper
SigyAefub hmb &TiUT

11. Which one of the following kerosene is more akin to Gasoline?
Spsar_eupmer Gasoline Gurenp wamterramblenti) eTg) ?

) Avtag (B) Avtur
Avtag Avtur
{C) Avecat (D) All the above
Avcat Cupaer. amargg) b

12. What is the pressure of compressed oxygen gas on board an aircraft?
Auoramsefld  eer sreddd  surduuspers  Cardsearselld  GCsllssg
eneuEsLILL[Derer afmaien PSS eralcuate?

M 125 bar (B) 100 bar

(C) 10 bar (D) 225 bar

5 030/DD/23
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13.  Which one of the following principal physical properties of iso propyl nitrate is not
correct?

£Csr  4yCGrmeud a@plCrlger Spssam  (psamebuITer Gupudryseild qerm
HEUDTEE] ?
(A) It has a flash point of 10°C

10°C el flanevuyeni_wigy

Its vapour is lighter than air
@iger el smhenn efl. Cogreang

(C) Itislighter than water
@g Feryeil Cavareng

(D) It generates toxic fume when burning
erflywQurpg pEal yensew QeuelGuippib

14. Aluminium ignites at what temperature?
&pssar b Gautin Hlenewudd sigiflafun erflu o rb9sEh 2
(A) 500°C (B) 600°C
©) 1700°C 2 1800°C

15.  Which of the following statements are correct?
Spssae mpnaeile eg/ermen sflurearg ?

(A) LCC — Linear cutting cord

LCC — Linear cutting cord

(B) MDC — Mininature Detonating card
MDC — Mininature Detonating card

(C) VTOL — Vertical take off and landing
VTOL — Vertical take off and landing

All of the above
GuhsearL SiaearsgiD

16. Chemical formula for Acetaldehyde
S Loy man® CauHufwd @BluiE g ?

(A) CH;COOH & CH;CHO
(C) CHsCOOHs (D) HC:CH

030/DD/23 6



17.

18.

19.

20.

21,

What is the Flash point of Acetylene?
8 1g Sebr-eir Ty Lyemat] ereusueTe?
(A) 113°F (B) -36.0F
w 0°F (D) 32°F
Which one is the Chemical formula of Ammonia?
<pGuraflureen Cauuduid GMuip wrg ?
< NH; (B) NH.OH
(C) CeHs (D) NH4NO3
What is the Flash point of camphor?
asprsder Setrev 1yerefl ereveueray?
M 150°F (B) 113°F
(C) O°F (D) 32°F
Which one of the following is called ‘oil of vitriol’?
Spssam_aupmer orgl “puledr gt oA Aumd” adry wepsslu@ DS ?
(A) Sulphur 7 Bulphuric Acid
FeOLIT gy, & oybled
(C) Styrene (D) Toluene
coent_flebr QL_mgpieetr
Which of the following chemical used extensively in synthetic rubber industry?

Qewpens LT swrflss Quepereiled LweTu@L CoudlsbummeT wirg ?

M Butadiene (B) Butane

Gyl L mepLebr Gy G
(C) Bromine (D) Butyl Acetate
yGrmder Gyl e Gl
7 030/DD/23
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22.  Which one of the following gas is used in flame cutting and welding?
Epaahi_ eurydseia ag Heuree Ceul Higed whmb Ceudyhdld LweauHDg ?

(A) Pynidine Mrop ane

oo Ll i e yyuGuer
(C) Naphthalene (D) Benzene
T Quen&etr

23. At what atmospheric pressure LNG liquefies?
ahs euannar e ipsssdéd LNG Brownrs wrmidpg) 2
(A)  30°C (B) 0°C
(©)  100°C T -162°C

24. Ohm’s Law is
@Lbev el ereLIg

(A) R-=

Gk -

v
A
M
D) A=—
D) "

25.  Under which explosive class is firework classified?
QeugGumgplsafiey erhs 9faney Gopgg fireworks?

B Class 7 (B) Class6
(C) Class1 (D) Class 4

26. The standard tested voltage for rubber gloves is
Gruui evaweper Haawnar Gergaear CeurdGLgh oieTe| ereren ?

(A) 3,300 voltage (B) 16,000 voltage
NG 15,000 voltage (D) 18,000 voltage

030/DD/23 8



27.

28.

29.

30.

The unit of electric current is
Nesrgmysdlen siexs

(A) Volt (B)
Gaumed i
Ampere (D)
S LT

The expansion of T.N.T
T.N.T eretruger efifleurssid

(A) Trinitroxide (B)
g6 L TTEH®E(H

Trinitro toluene (D)
ey eplGrm Qe edlen

The mixture of liquefied petroleum gas 1s
frowrsaiu L QU Grredlu sumujeller saee

M Propane and Butane (B)
yruCGuelr wHmb Gy GLer

(C) Butane and Hydrogen (D)
RN GLah HMID nenLFeEer

Which of the following is liquid metal?
Spsaameupmier argl bio e Geonsb?

(A) Duralumin
g LLTT 2ig)iSlasfib

(C) Tin D)
SE&TID

Resistance
Qrflev e
Ohm

@m

Trinitrate
geny enpLl Gyl

Trinitrotin
genF el Grymiger

Propane and Acetylene
YrUGLeT whmib dLigader
Propane and nitrogen
LruGuer whmib enpLyaesr

Mercury
UMET&LD

Zinc
SIESHTED

030/DD/23
[Turn over



31.  Which of the following statement is not correct?
SpsasTL_cUDNIET HEUDTRT Fn DM eTH ?

(A) Silk is least dangerous fibre
LUL® @eneinar & urwuapeTer B

(B) Animal hair is largely composed of keratin
Nam@seiar (i Guberey AsCrmigarme g

(C) Vegetable fibre consist largely of cellulose
greuy prisdT Aupwersy QedamGaravamer dsmamig HéELD

M Soap will burn at temperature less than 350°F
350°F -5 @emmpeurar Qeuiu Hlavewufer Cemuy erfluyb

32. Which of the following statement is not correct?
Epsaa_ smpmseile sauprar sabm eTg ?

(A) Jute ignites and burns easily
gemred eraflfled § Qg gg erflyd gemano GameirL g

(B) Jute is obtained from a tall reedy plant
Femmred e wigores prawed GFguiledimbg QupLuGEpg

(C) Jute is obtained from genus corchorus plant
gawe sriGsyev Cuilard s Qe ulambs GuprL@GEng

M Jute does not absorb water readily

gamed Beny 2 Hgraadloene

33. In general coke burns without smoke and has an ignition temperature of
Qurgieurs &M Levsulderenosd erfluyb GeuliLiflena

(A)  750°F \MGOT

(C) 350°F @) 600°F

34. Anthracite has an ignition temperature
< hsTemel. euams Hlassfl af@euliuifiene

750°F (B) 660°F
(Cy 350°F (D) 600°F

030/DD/23 10



35. The melting point of Brass is
g sener-uder 2 (mEHlene

(A) 321°F (B) 327°C

(C) 1786°C \PrH40°C

36. Which of the following statements are correct?
Epsaar ampmsefled g sflwmearg ?

(A) A millicure = 1000tk part of a curie
A millicure = 1000 part of a curie
(B) Gama rays are the most penetrative
&Mom HTEeT e emB(He b SETENLOL|nL Wig)
(C) Alpha rays has low penetrating power
oL &HiT&6T GmnHE Larh(Heh SeTennuL|en g

( All the above are correct
Cupser.. enenggh siwmarael

37. The half life of Radioactive element bismuth 214 is
Wevwg - 214 ereip sFNuss saflogdler ey ue smeld

20 minutes (B) 4500 million years

20 BlAlL_raiseT 4500 Sevedlwter e ([HaseT
(C) 238 years (D) 206 years

238 s 206 gy em@ser

38. At what temperature rubber will begin to flow in a sticky, slippery, hot mass?
Byoui GLmer, alpeupliung, @l HIb SEHENDLILET eThs Qeuliugleneouiiehr smesriiLi(Hid ?

\yf' 400°F (B) 204°F

(C) 450°F (D) 500°F

39. Sugar melts at about
siasar ahs Geulubleauid o (mEb
(A) 420°F (B) 400°F
320°F (D) 300°F

11 030/DD/23
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40. Salvage means
gredGeusy eremLIg,

(A) Saving the fire man
SweneniCumenT HriILIZ

(B) Work for fire fighting
Swemem&@h Lentlid FRUR e
yPreventing and protecting the unburned material from water and smoke
erflwng QUi seer B wHmID Yersulal(mhg sTiLg)

(D) None of the above
@eubdled ergieblevensy

41. How can a person be protected from radiation?
sdlit ciFfld @(mbg (REIMNT TEUEUTR STLILIG ?

(A) Shielding (B) Safe distance
S UL &eT LUMEISTUILITET SIyD
(C) Short time exposure MH of the above

endlu Crr Geusfiuuin® @eneu apardgiD

42. The abbreviation of PVC
PVC-er Sfleundad

(A) Poly vinyl chlorate . M Poly vinyl chloride
Lmedl eflenared @&GermGr umell eflenamed &GerTany(h
(C) Pentavinyl chloride (D) None of the above
Quer_ L elenared &Germenyh @aveu eTgiaidleene

43. In which city NIDM is located?
NIDM eriug sienobgierarg) ?

New Delhi (B) Mumbai
L&) @ Lebebd] (e

(C) Chennai (DY Hyderabad
Qesrenan QDSTTLINE

030/DD/23 12
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44. In air craft the main fuel tank is located at
ewrengdeér erlQummeT CLmS emwhgereT LGS

(A) Sides of the aircraft (B) Beneath the seats
eforengden @rsdled BABEDEHEHEE iigulled
In the wings (D) Bottom of the aircraft
eflwrar @psens LGl aforensHlesm ily.Liu@Ggludla

45.  Explosives can be classified in to classes
Qeuig GL(HL &6 erdseneT uensWNs euansLhidsIuL hHidrerg; ?

A 9 (B) 10
6 N T

46. What is the suitable Firefighting medium for Sodium fire?
Gemguib Senw Hemams@h QUuTBSSTar FwenerliL] sa &b &g ?

(A, Foam
Bienly

\M) Dry sand

2 QITHG LOGHT 6D

(C) Water
il
D)y CO:

STALIET anl 24,5 e (h

47.  Which one of the following statement is correct?
Epsaam_cupmer sflwmer snpm erg) ?

MA kilowatt is equal to 1.34 horse power

e HCareurl -er @enanrwinang 1.34 GHlersdipe @0
(B) Low tension or low voltage is up to 1000 V
GODhE SI(WPESD (Sivag) Gapbs Bararpssnd 1000V ey QmssLd
(C) A 2 KW electric radiator on 240V circuit takes a current of 80.3 amps
240V s iged 2 KW blewery GrgCGuilr 80.3 «ybusy Wearlarmi g
aT(H& &L
(D) Milliamp equals a hundredth of ampere
el b b wfler Brble @ Unki@GHE soLb

13 030/DD/23
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48.

49,

50.

51.

52.

The unit of electrical resistance 1s
Slemgenufler 2ie0&

M ohm B) volt
gLb Geumedt

(C) ampere (D) watt
DS GumL_”

The maximum fuel load of small helicopters with two to five seat is upto
Brean® s BHH BEsmssdr QsrarL APlu gs QapdlstiLfsalle sifsuls
erfl@uimgpeir?

(A) 100 gallons

M 200 gallons

(B) 150 gallons
(D) 250 gallons

Class “C” petroleum liquids have flash point above
“C” Gfley QurCrredw Biwmadr Geamrevdrefl ahg QeuliufienasE G Q@EHEEWL ?

(A) 73°F " 150°F
(C) 320°F (D) 132°F

The number of cycles of wave length is called
saapeargder spbflaaiicn eremeamfilsma

{ Frequency (B) Sequence
S ATNT: ) @@ euflenswns

(C) Velocity (D) None of the above
HlansGeusid CupaserL egie|ddame

Frequency is equal to
SF TCleueRT eremLig)

(A) Velocity x wave length

SeneGausd x SienaBerid

wave length

velocity
Sie@aberLd

(©)

HeaneGausid

030/DD/23
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wave length
HanaGaugd

Sieaberid

(D) 2 wave length x velocity

2 sjemabeaid x fasGeushd



53. Minimum Passenger Capacity of Fire Lift is
pwir Sl (Fire Lift)- @enphgsuUL.sb agg%ﬁ Qedeamib?

A b \{

5 BpuU&eT 8 pufiser
(G 10 D) 9

10 punaer 9 pufrger

54.  Which one of the following does not happen in case of short circuits?
e @mae@ unigsdlarGung Spaa g penLduDTgl ?

Steady flow of current between conductors
&yrar Weeryd sLsHaEnsE Gt Gu umuyb
(B) Breakdown of insulators
&TULTanSseT Qewd @whgielHib
(C) Lead to an out break of fire
8 flugg gHUBID
(D) Current flow deviated from normal part to quicker return path
WSersmyb Gueurer Ul sHalkbs elaraurar wWerdmuub gHUBD

55.  The Velocity of radio waves 1s
CrigCun siamasaiien SeansGausd

M,SS,OOO miles per second (B) 300 meter/second

1,86,000 enwév/eSimmig 300 Svi/edpmy

(C) 1000 meter/second (D) None of the above
1000 S rr/eflBmg @aeisailer ergieyLllcene

56.  Ultra high frequency are
SIOLIT 2 Wi S Tlleusrser eramLame

1 - 0.1 metre (B) 10— 1 metre
1-0.1 80 10-1 S
(C©) 100 — 10 metre (D) 10,000 - 1000 metre
100 — 10 B ' 10,000 — 1000 S
15 030/DD/23
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57. VHF are
VHF ereuigy
(A) 300 — 3000 MHZ «Bf 30 — 300 MHZ
(C) 300 — 3000 KHZ (D) 30 - 300 KHZ

58. Find the odd of the following
SipseirTcupmieT QUTHHSNS QETOD STENS.

(A) Modulation (B) Frequency
LemGubhmLD 28 el euetr

(C) Amplitude W Automatic fire alarm
ai5s sraflunkdl § eeflliLimar

59. Current mobile equipment for the fire service normally receives in the band?
Sueenii gop¥e sHCurmsw OQuramud eusTETLSE ahs Amaaflasuio

Qumid g ?
(A) 88-108 MHZ (B) 80-82MHZ
88 — 108 MHZ 80 — 82 MHZ
70 - 72 MHZ (D) None of the above
70 - 72 MHZ @euples ergibicdbene
60. seconds is a good turn out time.
Aprgser arenug Hpps Geuealbsdgiems Gpyb
(A) 24 seconds (B) 22 seconds
24 &fipmg 22 eflpmg.
(C) 21 seconds 20 seconds
21 aSlpmy 20 eflpmig.
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61l.

62.

63.

64.

Which of the following is correct :
The amount of water that passes in a single line of hose depends on?
EpssamLaeisaller sflwnar sgpepp Sreas.
eraul e SrelG@pni ppab Geogn Bl oararag Spasar_cupmp CUTRSS).
(A) The pressure at the pump
LbiSlehr 2.6T 2 6Tem Bi(PSSSDS QUTHISSS)
(B) The length of the hose
e @@ymien Sarsens QUTNSSS
(C)  The size of the nozzle in use
weTL RSsLBID BrAd sieTanes GUTHISSS
Mll the above are correct
CupamPu eensgh Fllureramel

Lard oil is obtained from which animal fat?
Lard oil erpg eflemdler Qarpndlmig QupiuGEng 2

(A) Fish 7 Pig

WBebr uemml
(C) Cow (D) None of the above
@ CuphaarL eargieyfldeane

Where is the terminology ‘Deck’ used?
QL& (Deck) ergyid Qemey vweTLRItb @LLb

(A) Aircraft Mip

eurgynrdl &LILIED
(C) Train (D) Bus
@rlld Cu(mpbsl

Menhaden oil is obtained from which of the following?
Spsear_apfe Menhaden oil erdaflmpg Gupiuhdmg ?

Fish B) Pig
e Liebrl
(C) Cow (D) None of the above
o CupaanL. age|dldene
17 030/DD/23
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65. The term “Bunker” in ships refers to
suLOsaNe eupsdla 2 erer “Bunker” erémp Qemdveden Guimmer
(A} Pumping station areas at ships
sluude Br GeuelGubpmb ugd
y A compartment in which fuel is stored at ships
slinele erfl@urmer Cellgs emaudsliLfHn UGS
(C) Sterile zone at ships
suneled 2 arer HHBwbn LGS
(D) Primary engine area in a ship
stiuedller 2.emer apgwflana @epgler LGS

66. Class—A petroleum product are classified according to flash point?
Class—A eews QuULCrrellu Quamlsar Spasar. eabs erflflene Geulublenaou) e

auaslURSSLIUREHmE ?
(A) Above 33°C (B) Between 23°C to 33°C
3°Cé @ G 23°C @psed 33°C equeny GepL_ Ll L
Below 23°C (D) None of the above
23°C-&5 @ameumen CupamPlu ergiayildene

67. Which one of the following is almost “smokeless coal”’?

Spssaeuhper Lasggerannupm Hlegasd ererlu(Rb.

(A) Lagnite (B) Bituminus
dGener YR O eseiv

(C) Sub Bituminus % Anthracite
LG O emein SpBSTNEL

68. Melting point of Brass is
Qs gaeTulen o (mEblene

(A 1500°C & 940°C

(Cy 700°C (D) 500°C
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69.

70.

71.

72.

How many types of electric lighting is in use?
THSE euanasUITaT e eHlaTHGHET LWeUTL_ig6) D aTeTes ?

(A) two types (B) five types
@ras(h cuens whHS CUME

(C) four types W three types
BN euens APENTTY BUENS

The celluloid materials decomposing process known as
Qaobdguanu HavgeuenL b ellenar eraTug

(A) Endothermic Process Exothermic Process
Qeuliu 2 _eTellener Qauliu 2 WBipefiener

(C) Decrease in temperature (D) None of the above
Geutiufleney Gemged Cuhaar_ agiebd @dame

The Condensation product of Benzaldehyde is
QuengmeigemanaL @eflteluiugen epald upliu@eug)

Benzoin (B) Benzene
Querrgmudl e Quenéer

(C) Balsams (D) Al of the above
UméEbe CuhserTL eneTEg b

Which are the ways fire can spread?

& ugayd efipid

(A) Conduction (B) Convection
E_SH5D Ceuliu&saand

(C) Radiation AP All the above
&glrel&a Copsam. senarsgb

19 030/DD/23
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73. RAD means
RAD eretruig
Madiation absorbed dose
2 flgreiu’ L sflieissn Diemey
(B) Radiation alpha dose
SE T DT HeTay

(C) Roentgen Active dose
Crmetn_Glggenr CewebLimp ierey

(D) Roentgen Air dose
Grrem_Glsper sTHm ieTa]

74. Chemical formula of chlorine
&Cermfler-ear Caudludwed Gohup

,y( Clz (B) Cl

(C) ClOs (D) CHs;

75.  Melting point of cadmium
s Blwugder 2 (@ Hlaa
(A) 132°F (B) 250°F
610°F (D) 500°F

76. Melting point of Platinum
Qe angdlen o (heHlena

..g( 3223°F (B) 1773°F

(C) 3000°F (D) None of the above

77.  Which of the following material gives toxic fumes during combustion?
Epaein_eupmier erflubCurgl pée euryenes QeuafliiHoug ergl?

(A) Metals (B) Steel
o Geungb Gole6d
Plastic (D) Wood
GeTmeivig.d DF&&L_enL
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78.

79.

80.

81.

32.

Which metal is light and good conductor of electricity?
B Cesrangild, WengTisamg FATDNE &L Skl 2 Georsib

(A) Copper Aluminium
@&y < lafwid
(C) Steel (D) Bronze
eV le e QeuaTseLd

Liquified oxygen systems are carried by which of aircrafts?
frey Y smen BeniLser g elgorer ewrarsaflsd LwdaLBSsLLOEDS ?

( Military aircraft (B) Naval aircraft
@ rrgnieu eflmerid sLHLL efimeard
(C) Civil aircraft (D) All of these
Lwenfl&eT eflinmerid @ereu BanansSlapib

The aviation fuel similar to paraffin
efrerrigefes LWeaTURSSILHL uTTSier afGuTmer Tsamar psgidTarg ?

\M kerosene (B) Crude oil

LD &7 o) e atsT ) i S&&T eratord e
(C) petrol (D) Diesel
QUL Gryme le Felt

The Chemical liquid used in manufacturing of synthetic rubber and plastic is
Qewmens guLT LHmID Gerrevigd 2 HusHuded LwaTURSSILHDL @remuer Sreubd
(A) Ammonia (B) Acetone
SGoreflwm 28 G e
\V Acrylonitrile (D) Amyle Acetate
S&NCoranar_enyed Do HFLCLIL
NAIR Scheme is regarding

NAIR S b ergenars ubBluig ?

(A) Incidents on refinery fire Incidents on radio active substances
asdafiiy yena & Ghisg sdflwss Qummmlsdr Bape GO
(C) Incidents on oil fire (D) Incidents on rural fire
o § @hiss Agroiyp § GHiss
21 030/DD/23
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33.

84.

85.

86.

87.

Which chemical is used as anaesthetic?
W& WEESTE UweTu@b Geudliblummer?

(A) Chlorine

Germfle
Mghloroform

&Cerm&yrumiid

(B) Chlorobenzene
&GernGrr Quenden

(D) Ammonia
S Guomeflwr

Fixed deck foam system is prescribed in
Peowrear Qg meny sewlil ek 2 uGundlés ufipgierssinGEpg ?

(A) Small tanker ships
fAdw Cmar slue

(C) Large passenger ships
Quilu uwerllEer &L

ﬁﬂdarge tanker ships

uflw CLisT sliued

(D) Small passenger ships
Afw LwenflEeT &6

A colourless and highly flammable explosive liquid is
Hpopp womibd Weeah erfiwssmigur QeuGummar

Myridine

&L g 6ir

(C) chlorine
&Garmilar

(B) sodium
Camiguid

(D) propane
yQrrGuelr

Which of the following make easier to apply paints?
QuuilaT ysFeiens LTSS LweTLHeug ?

(A) Enamel
GTATTLDGY

(C) Extenders
er&e( el e

Flush doors may be
Kerreiy SH6&EET cTeTLIZ)

(A) Antique
<8, 600T g &

(C) Wooden framing
oy NGk

030/DD/23

(B) Drivers
lq-6%) [JU T

1luent
60 L_GD L p6iTL

(B) Steel covering
evled Heuflm

2T Hollow

Gleuhm
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88.

89.

90.

91.

92.

Chemical formula of potassium chlorate 1s
Qum_rflun @CennGriger Caudluiwed GHuiE

&) KCIO S KCIO;
(C) NaClOs ®) CO:

In ships, the under side of deck forming a ceiling to the deck below?
slLdsald, QLES -6 Sinliugd EC o arar &L &@EHEnseE SIS QH&EEGD Guwii?

(A) Dory \-(Er Deck head
G QL& Qanl

(C) Bridge Deck (D) Booby hatch
A [ [ AT umdl Gem g

Which is used to keep a ship stable?
sULID Blenewrs BmUuushe LWSTLRSSUILRD GQurmeT?

(A) Astean (B) Bunker
<B,610 (| L_ITelr LI MBI T

(C) Deck 27 Ballast
QL& Guaev_

A ships kitchen
SLILGNET Fapowied anl b

W Galley () Deck head

CasCe QL& Qapl
(C) Ballast (D) Bunker
CueveivL. UTI&T

Which one of the following Kerosene is known as ‘wide-cut’ gasoline?

Epaar arhs b wantamar@arrs erfl@unmer ‘wide-cut’ GsGeranever eram:iLI(ib ?
(A) AVTUR/50 (B) AVTUR/40

V AVTAG (D) AVCAT
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93.  Which of the following is not a animal fat?
Aeraugpeuarelpiled eflemi@ QETPUL HOOTSS TSI 7

(A) Tallow (B) Lard
LnGeum GOITITL
Cacao (D) Butter
&Ga&m @ euresar Qe

94. The excretion product of coccid insects in jungle trees is
snp&afcr o_drer Qamadl ysflulen erdgwoms Qupliu@d Gummar?

Lac (B) copals

Caé Camumeden
(C) Gum (D) Balsam

LiGh& U MeD&FLD

95. In train the bar at the edge of the Chassis of a wagon is called
Grlallen Cefler o arer Ceusaflen gpenamuiled o érer L guSter GLwir?

(A)  six foot (B) running rail
S&au SeLgl Jeretim Tulled
sole bar (D) pantograph
Camed Lt CuenGLrdlymri

96. In aircraft where the escape slides are normally provided?
amgprdlaaflds sL9G@D evaradEer eThiE QUTHSSLILUL G (&G ?

(A) Window (B) Wings
DETETESHET BpsensaeT
y/ Doors (D) Pilot seat
HSHEGET eflrefl @)(mdams

97.  Cockpit canopies are found only on smaller?
&n&ldr. QsCarmley SpsarL ergldd smrewliLE g ?

(A) Passenger ships M/Iilitary air craft
vwerflger &L @gremieu eflbmeanid

(C) Cargo ships (D) Domestic air crafts
FI&HE HLLIED CLrmoeviyé ellmemd
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98.

99.

100.

The wheeled supporting structures on which a train runs?

@ BT QUBIGLD FEET S SLLELILSE

(A) Breaking propeller (B) Lox
GCrsdlm yGrruQueei OT&E
Bogie (D) Co-axial propeller
Cunél Gar-gsaflud LG@rmuLdeT

Which one of the following term is not related to ships?
EpsaieubmieT SULIDSERL 6T GaTLGhans ey g ?

(A) Bilge hermit
Qevgh) AP

(C) Galley {D) Bunker
GaGev LITI& T

Counter fire is a method to deal with
Qaeresrit LW eTeLIg) argene eTdTRETETEHL (penm

(A) enemy attack Wst fire

adfl sréGsD &ML §
(C) explosive fire (D) plastic fire
QeugQummer £ Qermevigd
25

030/DD/23
[Turn over



